SUMMARY PRACTICE TEST CHAPTER 13

1.

N = 30 

(15 * 2 = 30 for 15 years compounded semiannually)

I% = 8
PV = 0

PMT = –1800 

FV = 0 alpha solve 100952.89




P/Y = 2
C/Y= 2






Answer: $100,952.89
3.

N=20 

(20 years * annually)

I%=4

PV=0 alpha solve 108722.61
PMT= –8000

FV=0

P/Y=1

C/Y=1 






Answer: $108,722.61

4.

N=36 

(9 years * quarterly)

I%=6

PV=0

PMT=0 alpha solve –2155.23
FV=100,000

P/Y=4

C/Y=4






Answer: $2,115.23

5.

N=36 

(18 yrs * semi annually)

I%=6

PV=0

PMT=0 alpha solve –2054.49 
FV=130,000

P/Y=2

C/Y=2






Answer: $2,054.49

6.

N=22 

(22 years * annually)

I%=6

PV=0 alpha solve 264914.80
PMT= –22,000

FV=0

P/Y=1

C/Y=1






Answer: $264,914.80

7.

N= 31 
(15 yrs * semi annually + 1 for annuity due)

I%= 6

PV= 0

PMT= –1700





Then 
$85,004.55 because annuity due

FV= 0 alpha solve 85004.55 


 

            –$1,700.00

P/Y= 2


                  

    
Answer:       
$83,304.55

C/Y= 2 













8.

N= 47 


(23 years * semi annually + 1 for annuity due)

I%= 8

PV= 0

PMT= –1800





Then $239,301.70 because annuity due

FV= 0 alpha solve 239301.70
 –$    1,800.00
P/Y= 2






Answer:      $237,501.70

C/Y= 2







9.
First use chapter 13 methods to calculate the PV of the annuity.

N= 25


(25 years of withdrawing * 1 annually)

I%= 7

PV= 0 alpha solve 932286.65
PMT= –80,000
(amount of withdrawal each year)

FV= 0

P/Y= 1


(annually)

C/Y= 1

Nelson needs $932,286.65 in 6 years in order to start withdrawing $80,000 per year for 25 years. But since Nelson is going to retire 6 years from now, use chapter 12 methods to calculate how much Nelson must deposit today in order to have $932,286.65 in 6 years.
N= 10 


(10 years until retirement)

I%= 7

PV= 0 alpha solve –473927.26
PMT= 0

FV= 932286.65 
(value wanted in 10 yrs)

P/Y=1

C/Y=1

Amount to deposit now: $473,927.26

Answer: Deposit $473,927.26 now. He will have $932,286.65 in 10 years. Then, he can withdraw $80,000 each year for 25 years.
10. 
N= 36 

(9 years * 4 quarterly)

I%= 8

PV= 0 

PMT= –10000

FV= 0 alpha solve 519943.67
P/Y= 4

C/Y= 4

Four years later he has $519,943.67.

N= 16

(4 years * compounded quarterly)

I%= 8

PV= 519943.67

PMT= 0

FV= 0 alpha solve –713771.24
P/Y= 4

C/Y= 4





Answer: $713,771.24
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